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Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a

question, leave all the circles in the corresponding row blank (such question will be awarded
zero marks).

gor ll;?ugh work, use the inner back page of the title cover and the blank page at the end of this
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No. of Questions : 150

9l hi €& : 150
Time : 2 Hours Full Marks : 450

qag : 2 gue | quriE : 450

Instruction : _
fA3er : This paper consists of Objective Type Questions and is divided
into Two Sections (I & II) as under :
T8 UeE-9F Sgfaseedtd 99t q¥ SAreniia ¥ qur & @osl ([& 1), H
faeeh &, e & A= g B
(a) Section - I: Consists of 130 Objective Type Questions.
(F) @S - I: T 130 agfaw=im 999 2|
(b) Section - II : Consists of 20 Objective Type Questions on (1)
English Language and (ii)) Hindi Language.
(@) @S - 11 : & 20 qefasedi wew (i) St W ofiw (i) =t v
& FH g ereniia ¥ |
A candidate is required to attempt as many questions as he/she can
of Section-I and questions of ANY ONE of the TWO Language papers
(i) English OR (ii) Hindi in Section-II.
erezdf 4 oriferd B f @vs-1 qur @us- & (i) Sidsh ar (i) f=<h
AT 5 & ATIHIE T B & o Y|

Note:(1) Each question carries 3 marks. One mark will be deducted for
each incorrect answer. Zero mark will be awarded for each
unattempted question.

SAH H97 3 3% N B | YIF Tad IaT B 7T T S7F FET A7
g ST 9T HT UTAib A B |

3 P.T.O.
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(2)

(3)

I more than one 2111(.‘|'!1£_1[i\'L‘ answers seem o be {fi',‘]!f'i"_"@!.'i.i]l' Ly
the correct answer, choose the closest one.

AT THIMEF ThieTqsh 3907 AL 3797 & (7%= gdid &, a1 Fekada 7@
ERE

Each question is followed by Four altlernative answers (1),(2),(3)
and (4). Only one of these answers is correct. Select the correct
answer and record it against the relevant question number by
darkening the circle with Ball point Pen on the Answer Sheet.
as per the guidelines.

OoF 99 F AR TEETE 3T gEE T R A (1),(2),(3) 71 (4)
AT W T AT £ | 290 A g9 U B 39T 98] £ | A9 37 &
FAT FAGT TAT FTAH Ghd B IUA-IH T der=dl geq He &
AW FRemgar SfEd ga (WerE) & e dgee 99 2T FE
FE T |




O1.

02.

03.

SECTION -1

gvg -1

ADHD is related with ......

(1) Autistic Behaviour (2)
(3) Neurological Problems (4)
Tolotgodo H TFT B .......

.

(1) & F=FEr (2)
(3) A FEE (4)

Glaucoma 1s mainly Caused by ..........

16P/247/4

Hearing Disability

Disorder of Attention

21O 2743941
A H FHHI

(1) Insufficient amount of Oxygen in the brain

(2) Lack of Nutrition

(3) Increased pressure inside the aqueous portion of the eye

(4) Detachment of the retina

TIAET B P BT

(1) #ARash § SIS @ ST9ai HI=T

(2) GI9OT & HHT

(3) ﬁa%qm%ﬁﬁa@qg@naﬂm

(4) ST FH wWH G 'l

Which one is Congenital chromosomal Abnormality ?-

(I) Meningitis (2)
(3) Rubella (4)

Down Syndrome
Otitis Media.

=1 & | sota e erar e @i @ g 7

(1) #Af=emfed (2)
(3) BT 4)

e fagm
Alersfew Hifsar

P.T.O.
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04. Which suggestion is least suitable [oe barming disabled in clirssroom

0S.

06.

situation 2

(I) Using big sentences for instruction.

(2) Providing reinforcement

(3) Using computer for drill

(4) Flexibilitv in teaching methods

AAFRE A W ot 2 o T A A A M EgE B Y
(1) 7o & =4 a2 a9l 37 9907

(2) geaE A

(3) T BY FHHEST H UAN

(4) foreqor fafemi § =g

Enrichment programme will be suitable for which group of students ?
(1) Mentallv Retarded (2) Hearing Impaired

(3) Learning Disabled (4) Gifted Children

Adfed HrEiEd @98 & eEl & [d 39gad e ¢

(1) H=EEE H52 (2) =91 A
(3) <I=FTH 31EH (4) gfcreTe

In Peer Tutoring :

(1) Students take on specific roles as either tutor or tutee
(2) Groups are usu.aliy bigger

(3) Group of teachers teach together

(4) Students do not have the opportunity to act in both roles ol

tutor and tutee.
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08.
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Aty ageii b

(1) BE Zg=7 Tu7 =321 & @99 gfawE 9 2

(2) HHYE TFIT dS B ©

(3) forerl b1 Wiy UH @Y fEor war ®

(4) BET ® TP qAT TSl AT I HHE HIH FH AGAL 00
IESEIN

Leena’s [Q was found 69. Her intelligence level can be labeled as :

(1) Average (2) Gifted

(3) Above Average (4) Below Normal

ST 1 giaetiel 69 8 | IWH dlfadh T F#T erm 2
(1) efrad (2) ufersmemet

(3) <Td A U (4) @mF F |9

Classroom ambience refers :
(1) Feeling one gets on entering a classroom
(2) Classroom seating arrangement

(3) Class control

(4) Teacher's Behaviour

e Hal " 9 ardd §

(1) @& H§ YA A & Sl JEEr g99a) 2
(2) HEM H JSA P ZawRn

(3) W& FE=T

(4) feretR &1 =FaerR

7 P.TO0.
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G

10.

11

Which one is not characteristic ol Learnin: disabled ?

(1) Impulsivity

(2) Emotional difficulties

(3) Similarity between Achievement and Intellectual ability

(4) Deficit in Meta cognition.

T =1 o 3 2o A7 fAaorgar cifemy 239 451 98t & 7
(1) =9

(2) AT A

(3) 3Uy qar difads @ddar H FHIdl

(4) HeTHSAT H HH]

Strabismus is caused by :

(1) Involuntary movements of the eyes.
(2) Malfunction of the Eye muscles.

(3) Decficits in the field of vision

(4) Delicits in Visual Acuity.

(1) == &1 eritess Tid
(2) = "rAafeEt @ wrEd "ol
(3) zftz famr # &Hl
(4) gfte dieorar | &0

PWD Act comprises :
(1) 11 chapters (2) 12 chapters
(3) 13 chapters (4) 14 chapters



12.

13.

14.

16P/247/4

Hlosedolo UgZ H i & :

(1) 11 =4 (2) 12 33<T14
(3) 13 I (4) 14 =4I

Which model of disability regards disability as a genetic condition ?
(1) Human Rights Model (2) Bio-Centric Model
(3)  Charity Model ' (4) Functional Model.

SAHAT BT BT AT AIEH ST/ ST B AR
qrear = 7

(1) (8999 Wze Hisd) Hd AR AidqH=

(2) (aEmEfgs disd) Sami-za ufaa=

(3) (afEr #ted) qasT afaas

(4) (®=posIaT Hizd) FHATHE ITH

In which year government launched the scheme of Integrated
Education for Disabled Children (IEDC) ?

LT BN ‘S2HIRE UsheH G fequass fega (o2 2 €141 1
AT A A & T ot ?
(1) 1970 (2) 1980 (3) 1972 (4) 1985

The education of the handicapped children should be an inseparable
part of education system". From where this statement is written ?

(1) RCIACT (2) PWD Act
(3) Kothari Commission (4) UNCRPD

TqieT”’ | g8 FHU9 Fel o forgr 7y g 7
(1) STRoUloIBEouae (2) diossgodiouse
(3) @IS HHIH (4) g\o@o?ﬁoGﬂTO‘iﬁoEﬁo

9 P.T.0.



16P/247/4

15. The ability to sce things at specified distances is called :

(1) Normal Vision (2) Visual Acuity
(3) Field of Vision (4) Ocular Mobility

TGl # MiEe g | e @ e weandl ©

(1) amr e (2) zfe= eoran
(3) = fgzanr (4) AT Al

16. Which of the following in prenatal cause of Hearing Impairment ?
(1) High fever in infancy (2) Blow on the Head

(3) Maternal Rubella (4) Infection in the middle Ear.

= ® A I =GOT ST B0 WiHed hiRer & ¢

(1) Qrem@m@E=r § dig sax (2) T 9 Al
(3) WG A (4) HeF FH9 H HHHIT

17. Full form of IDEA is :
(1) Integration Disabilities Education Act.
(2) Including Disabilities Education Act.
(3) Individuals with Disabilities and Educational Assessment.

(4) Individuals with Disabilities Educational Act.

3MEo[o30T00 & T’T ICESSIES %; : _

(1) =< fequiaierdist Tshe uFe

(2) e feaufaferdst aophae T

(3) ey fag RRauffEsT uve aaher STEEH
(4) z<idiggerd fag aufafedo oyHha uFe

10



18,

19.

20.
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Which service delivery model 1s the most suitable for profound mentally
retarded ?
(1) Home bound Instruction (2) Separate class

(3) Separate school (4) Regular class

T | A HEEE 02 gl & [ i 91 afad g gt=a
AgH 3UYF e ¢

(1) T2 F=d M2oM (2) ST 2l
(3) AT [T (4)  THIE T

In Hemiplegia ........

(1) One limb is affected

(2) One side is affected

(3) Lower body and both legs are affected

(4) Legs are more affected than arms.
errasTar 0.

(1) T 71 guifaq sar &

(2) TS AT gHiEd ear

(3) X @1 FFEar 9rT aor S A% g ey B
(4) oAl A ST AT gefad dar B

Repetitive stereotypic movement of visually Impaired are called :
(1) Blindism (2) Verbalism
(3) Echolalia (4) Hyperactivity

gzzéé?fié%‘%wv%wrzﬁézﬁ§=ﬁﬁ” (Rt “iadery gai=) #r

(1) sarsfem (2) Hifgepar
(3)  ZehrAferan (4)  SAfcfpaTsiierar

11 P.T.O.
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21.

22.

23.

The ability of an individual to meet the standards of personal
independence as well as social responsibility appropriate for his/her

age and cultural group is :

(1) Intelligence (2) Social Behaviour
(3) Adaptive Behavuiour (4) Emotional Maturation

YA 39 JGT Akl w9 FgAT R i AT A
A J41 AETAE FARE 5 S5 R " S ArEar A
. ’:!'H'zf:]— F:SI

— -

(1) gr= (2)  HHIE =ae
(3) TIHl IR (4) @i 9T

Recognize the appropriate group of sensory disabled from the following :
(1) Hearing and Speech Impaired

(2) Visual and Neuromuscular disorder children

(3)  Visual and Hearing Impaired

(4) Orthopaedically and visual Impaired

fe # A sSfaa @adl @ieM A@ge B Jedl

(1) =1Fvr ud arofl 279

(2) afte ud ArEmeiE famr art are
(3) gite ud 2E@u eH

(4) 2Iftey erem ud gfte eferd

Slate and Styles for note taking is useful for which category ?

(1) Hearing Impaired (2) Learning Disabled
(3) Visually Impaired (4) Mentally Retarded

12



24.

25.

il

I T o B e e A i i e e 0 B B L e B B T | A

(1) =4o7 27279 (2) AfeE 31eH
(3) gfte araH (4) AFES 7=

Which one is not characteristic of Hearing Impaired ?

(1) Constantly tones Volume up on Radio and Television
(2) Has good Vocabulary

(3) Generally inattentive during oral presentations

(4) Watches lips of teachers

[ b e = 21 MRS kol ™ £ 2 M O B ) e e | M ) MRS

(1) esar qar Fifas & STarsT dRdaR gedl &

(2) oT=BT JI=HIT AT & ' '

(3) HifEEs wgfa & IR AW w9 A I A8 2dr
(4) forer & 213t At S=ar ©

Which statement is correct ?

(1) Loudness is not expressed in decibels

(2) The greater the decibels, the louder the sound
(3) The greater the frequency, the louder the sound

(4) Frequency is expressed is decibels

M= 4 4 &9 a1 Fua 9d B 7

(1) digar 39T & e 8 aidt 8

(2) SHiEw oI 8Fm ar @|fy g enht
(3) g o1fger erft ar afy dig arft

(4) oTgiT #I SHiaw A =y frar oar &

13

P.T.0.
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26.

27.

28.

A common feature of Hinduism, Buddhisim and Jaimism s behiel about :

(1} The unreality of the world (2)  The existence of God
(3) The soul (4) Karma and rebirth
egdE, diEdie Ud SiaTe & U FH @591 J1 5 HIEEr " ST

syl =1

=

(1) TH=2AaE Har (2) Zva? W ATFAA

(3)  ZATcHT (4) Y 7F r_i-q'-'ﬁru

Epistemology means :

(1) Stem cell research

(2) Study of the nature of Knowledge
(3)  Study of the nature of values

(4) Studies of the nature of world

a9 HEr & Al BT g
(1) Har hlirhr AFHLTA (2) S @l Uepicd 1 STeEA
(3) T Wl Pl BN AT (4) WAL F HPIA B AT

In Indian philosophy "pramana” means :
(1) Oath (2) Measurement

(3) Assurance (4) Source of knowledge

et gef § ‘aur’ @ AT B B
(1) order (2) T
(3) IO (4) ST @1 T

14



162/247/4

29. 'Hinavana is the name ot which school of Budhism :

(1) Theravada (2) Varayana

(3) Tantric (4) Esoteric .
drzare & 69 fGen & am =g 8 °

(1) dm@EE (2) FHAT

(3) @i (4) T A

30. Coherence is the criterion of truth in :

(1) Existentialism (2) Idealism
(3) Marxism (4) Naturalism
‘TIFAAT T H FAET B

(1) SIRdEarE § (2) eTEsfare ®
(3) HERAAE H (4) upfaerz A

31. The ultimate goal of education in Janism is :

(1) Non-violence (2) Renunciation
(3) Liberation (4) Philanthropy
Siare ® farem 1 sifew @em B

(1) oAfEar (2) ufeam

(3) ITE@I (4) HAB-TRT

32. In which of the following thinker said that "Literacy itself is not
education, literacy is only means to education"” ?

(1) J.Krishnamurti (2) Swami Vivekanada

(3) Sir Aurobindo (4) Mahatma Gandhi

15 P.T.O.
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33.

34.

35.

D
E

[24T7]4

| H oD =des |5 ot 41 I Sistian 24990 20T |1 191201 T8

& Aleh HAaddr Had J1eaw 2 (o1 &y
(1) SToFHomHid (2) @l faaesE=
(3) &1 erfa=r (4) HeTeAT e

Which teaching method was evolved by Naturalism ?
{1)  Heuristic (2] Play way

(3)  Scientific (4] Projeet

gEaarE | A A forerer fafe fexr o oar ¢

(1) =@F @it (2) o fafa
(3) TR L(4) AP

Madhyama Pratipada is cardinal principle of :
(1) Jainism (2) Buddhism

(3) Vedanta Philosophy (4) | Sankhya

‘GeAHT Uia9er U g fosia &

(1) SHaE (2) drsdrE
(3) Eid Z9 =/ (4) A= w

Philosophy means :
(1) Consoling oneself while facing disappointment in life

(2) A form of religion

(3) Attempt to find answer to fundamental and ultimate questions

(4) Sophisticated arguments

16



36.

37.

38.

29l 1 AW BT 2

(1) S@Ed ® 290 &1 JEA1 e 97 @d F1 didAr 41
(2) UEk 9H FT YR
(3) H U 9mead Al B IAT UG FHIA I FHIAT

' (4) T @ awd EE

Aimms of Education is closely related to :

(1) Metaphysics (2) Axiology
(3) Logic (4) Epistemology

farer =1 3397 1 e dGEy ® -

(1) s 4 (2)  geFHET

(3) @ A (4) 39 dmEiom |

Main Aim of Idealism is :

(1) Self Actualization (2) Self concept

(3) Self determination (4) Socialization
SATEIETE W g IZ9F ol B

(1) 3T el (2) ST FUET

(3) wWd Muior (4) GHISIERTOT

The aims of education according to Naturalism :

(1) Self expression (2) Self realization
(3) Dynamic in nature (4) Self Actualization
gpiATE & FAFAR, R w1 SReT Ear

(1) <1 ifyaafag (2) <ATH gHeEfRTeT
(3) uHpfa & wify (4) AT Feqrefiepzor

17 " P.T.O.
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39.

40.

41.

42.

Book Emile” was written by :
(1) Rousscau (2)  Vivekanand

(3) Sri Aurobino (4) Plato

‘g’ gIH forEn T Ar

(1) =4 (2) fEaHE=
(3) =1 A=l (@) e

Democracy word has been dervived from which word -

(1) Greek word (2) Latin word
(3) English word (4) French word
(1) I 9= A (2) fest o= A
(3) ISl o9t ° (4) %= 9= H

Which one is the tyvpe of Democracy ?

(1) Direct democracy (2) Horizontal democracy
(3) Diagonal democracy (4) Longitudinal democracy

s Bl g T H A 0 B ¥ 7

(1) e AR (2) &ifasT SR

(3) @&OT depa (4) eTgEeA diehdA
Democracy word has been made up from two words :

(1) Demo and Cracy (2) Demos and Cratia
(3) Demos and Cracy (4) Demo and Cratia

18



43.

44,

45.
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SHIEEAT 91 41 €l d Ma®L 441 g4 2
(1) =91 ud &4l (2) SHMST Ud 9l
(3) 2| Ug Al (4) SHI Ug HieAr

To facilitate UEE, the parliament of India has passed the Constitutional
Act in :

Ot forAl 1 TR0 94 &g, AraE G397 T AT
EAG K M1 1R MR 722 O 1 I J
(1) 2001 #H (2) 2002
(3) 2003 H (4) 2005H

PR =

Free and compulsory elementary education is a fundamental Rights
for all children in the age group of :

(1) 4-10 years (2) S5-14 years

(3) 6-14 vears (4) 4-14 vears

gud  (M:geh) wd eifard orafaes farn @t awert @ Gifvs
AT 2 21 g2 e ong ayE & fog ' 7

(1) 4-10a9 ‘ (2) 5-14 a9

(3) 6-14 a9 (4) 4-14 99

Salamanca statement was given by which agency ?
(1) UNESCO (2) UNICEF
(3) UNO (4) NCERT

HAATHI=h e e Fem & &y f&ar =@y or ?
(1) Ze (2) FFE®
(3) Fu=ad (4) TAoHI03ME o3 T odt

19 P.T.O.
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46. Salamanca statement was given in which vear ?

ARITHIRT 40 (69 H=n & 2091 B a3y o 7
(1) 1997 (2) 1996
(3) 1995 (4) 1994

47. Inclusive education means the education of all children, with and
without disabilities together m
(1) Special School (2)  Residential School

(3) Regular School (4) Days School

garaelt forem 1 AT9auTy (gehaliyl Ud Gahali®m 9l ardhl &0 A1

forear -
(1) fa9m faznem H (2) 2ErEE FEneE |
(3) fAtua fgznem o (4) TEadmEm faznam |

48. Which one component is not a part of Inclusive Education ?
(1)  Free and Compulsorv Education
(2) Education for All
(3) To facilitate UEE

(4) Age group of 4 to 14 years

Fepeiferizaa # @ o1 aEEstt forar & oEd T B 7
(1) F:orek ud etfvard faran

(2) |l & fora ferew

(3) urAfE fored @1 AR T

(4) =X G drEE 94 % g 9qe

20



49. What is the dictionary meaning of Rehabilitation ?

50.

(1) Proceed to new condition
(2) Proceed to normal condition
(3) Return to natural condition

(4) Return to previous condition

TAAA T 9TEwRI A 1§ Y
(1) F0 =7 &1 a3% STH7 &Ml
(2) AWM A== # GIE STUEL Bl

(3) W@ STaRAT & a¥% el
(4) gd AATAT W AIX AleATl

Aims of Normalization is :

(1) Separate special students with normal setting.

16P/

(2) Providing normal as possible with the environment of education

and living.

(3) Combined special and general setting.

(4) Identify problems of students and provide education according

to their needs.

AR & 3399 8

(1) Mg g 4 999 ety &0 oraT &er

oD

(2) T wg Sfieq & ardERer & Sel 9% 99T 8 9rEg @ ol

HaTH &h{AT

(3) AW ud {91 Syawen &1 Ggad BT

(4) TEnfeRl it Tl # JeEr qu S AT ar

fTeT 9 T

21

P.T.0.
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51.

52.

53.

Rehabilitation docs not include
(1) Traming ol disabled

(2) Protection of Human Rights
(3) Adaptation of the environment
(4) Modification if behaviour

=
I

A T8 A e ®

(1) TT9mFAD 1 792 (2)  TETERET AT AT
(3)  AEETT H A C () EER q giEEn

Who said that "Education is the manifestation of perfection which is
already present in the man" ?
(1) Herbart Spencer (2)  Swam Vivekanand

(3) S. Radha Krishanan (4) Mahatam Gandhi

“Torr s 7 ferrmr oAl A g #1 sl 2 b
or ¢

(1) erdre a=a7 (2) W@MH [adwHe
(3) HaAYTAl VHTHOTT (4) TerHT et

Which among the following is not the meaning of word "Educare” ?

(1) To bring up (2) To educate

(3) To raise (4) To lead out

‘oA 9 1 fereatad § @ erd A€ ' 7

(1) O=-9r9oT AT (2) farer 2=

(3) TomET (4) ofdfifed it @l e

22



54.

55.

56.

16P/247 /4

Which of the following is not correct about the education ?

(1) [tis dvnamic process

(2) Itis tri-polar process

(3) Itis process of social development

(4) It 1s imparting knowledge in school only

forar & A H = § W A A1 99 98 8 7

(1) F& THHF qRAl 2

(2) T FEIgdm qien e

(3) F& AT faskr & giskar 2

(4) FE Hhad fgenem § FE Iar B

Which commission did consider equality of educational opportunities
is detail ?

(1) Saddler Commission

(2) Radhakrishanan Commission

(3) Mudaliar Commission

(4) Kothari Commission

I AT AENT Aferh TaHT A A Bl AR F =R G o ¢
(1) HSEX AR (2) TETHE AT

(3) wEIfeER aTEm (4) T TEm

NPE 1986 & revised Policy 1992 assigned an important place to which
type of education in elementary and adult education :

(1) Formal education (2) Non-formal education

(3) Informal education (4) Lifelong education

23 P.T.O.
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S7.

S8.

S9.

AZ oAt Hifa 1980 mg g Al 1992 grEieE od g foren

5 PR YHT AL {o1AT I HESOT T Al & 7

(1) SATg=nE [orer (2) 9= fere
(3) oTAIg=Nen forer (4) STaa-uId=a farem

Social gathering unconscious learning and imitation arc examples of :

(1} _Formal educaton (2) Distance education

(3)  Intormal education (4) Non formal education

AT Hd, A= Afers ud awd onfd 3Eme ¥ o

(1) 3Tra=nfes 9121 =60 (2) Z7EA feren
(3) eI farer (4) TrrTeniias farem

Radio TV, Press and media are form of :

(1) Formal Education (2) Non formal Education
(3) In-formal Education (4) Distance Education
e, dlodio, UT ud Hifgar faem @ w9 8 -

(1) SArT=niees fore (2) Frrg=nies feren

(3) ANt forer (4) ZITA forem

Where is the headquarters of UNESCO ?
(1) Paris (2) Burn
(3) London (4) New York

ARl 1 JEEE Hel © 7
(1) 9™ (2) @

(3) @z (4) A
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60.

61.

62.

One of the objectives of UNESCO i1s
(1) Justice (2)

(3) Freedom to speech (4)

AT B IeA H H UH ©

(1) === (2)
(3) Afv=Fm #1 =daaar (4)

Where 1s the headquarters of UNICEF

(1) London (2)
(3) New York (4)

S H AT FHET & 7

(1) wied (2)
(3) == (4)

16P/247/4

[Frecedom to live

Peace and security

oriid e e

Pakistan

India

BIEASIE]
qed H

Which one is the main objective among the following of Rehabilitation

Council of India ?

(1) To promote research & school education

(2) To promote research & college education.

(3) To promote research & special education.

(4) To promote employment & funding.

Frfefad & & % oF gea s29y, ﬂn?ﬁugﬂahwih‘%
(1) AU o {qermer 13 & diedaied &aEm

(2) TTEIN Ud Hendqenad 3R & giedined HEr

(3) oTFHUE U4 Iy 3w & geaeg Hr

(4) USEIR U4 o997 i Greaied e

25
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63.

64.

65.

66.

When was the RCEHAct implemented ?

(1) 1995 (2) 1994
(3) 1993 (4) 1992
AR oHloMEo HIA FHd o =Har =1 ?

(1) 1995H (2) 1994 1
(3) 1903 H (4) 1992 H

Which act is known as the Landmarks in Special Education ?
(1) PWD Act 1995 (2) PWD Act 19906
(3) PWD Act 1997 (4) PWD Act 1998

fagrg forem & fFm ®eA # Aeayel &g & w9 H SET S § 7

(1) diog=joglo TF 1995 (2) Hlozegodlo UFz 1996
(3) dlosegogio UFZ 1997 (4) Toz=loglo UFz 1998

What is the upper age limit for a child to be covered by PWD Act for
free & compulsory education.
(1) 17 years (2) 18 years

(3) 19 years (4) 20 years

fqom o9 sfafEg & 2 gias & S=ady Ay, Migebh ud
sfqard forenm & ded ® @ B 7

(1) 17 a9 (2) 184ay

(3) 19d49 (4) 20dd

Which of the following teaching method is more student oriented ?
(1) Lecture (2) Heuristic

(3) Demonstration (4) Story Telling
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67.

68.

69.

16P/247/4

A A foran @i e e died €7

(1) AP (2) @A

(3) U=9iH (4) =HEHRAA
Retrogressive chaining is a part of :

(1) Linear Program (2) Branched Program
(3) Mathetic Program (4) Small Program

SFAITE] ST R 9T B 7

(1) ¥@™ 79y (2) QUEE SAWEHH

(3) HaAfesw arfyymy (4) BleT 3fmHH
Constructivist approach focuses on

(1) Knowledge construction (2) Knowledge impartation
(3) Knowledge transfer (4) Knowledge explosion

(1) == & fAmior 93 (2) M &% 3 9T
(3) M & BWIFAIT YT (4) 9 & fgEhRle 9T

Which model focuses on the enhancement of inductive reasoning ?

(1) Concept attainment model (2) Advance organiser model

(3) Basic Teaching Model (4) Non-directive model
SANTH T T A oA e afome a6 agdem ¥ 7
(1) GeheqsT ey gfermm (2) Sl Hirew ufeH

(3) giTarEt fRremr g 4) -yl

27 P.T.O.



16P/247/4

70. Retention is the part of

2 18

72.

(1) Memory (2] Understanding

(3) Application (4)  Analysis

(1) i = (2) ArEr
(3) DA AT (1) AU Al

Herbert 1s associated with :

(1) Memory level teaching

(2) Application level teaching

(3) Understanding level teaching
(4) Analysis level teaching

e R B

(1) @fa @ e A (2) wEE T foreer |
(3) dig e foreor | (4) fagsaor w@e foreer 9

Chain learning structure can be presented by using :
(1) Pictures - (2) Sketches

(3) Models (4) Aglorithm

sfrganr TR AT URgE fRAT ST ARl ©

(1) fa= =z (2) A =
(3) HTEE EI (4) STTSIEH =T
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73

74.

75.

16P/247/%

Relevant examples are not a part of which skill ?
(1)  Skill of introduction

(2) Skill of stimulus variation

(3) Skill of explanation

(4) Skill of writing inetructional objectives

AGF FEEIOT A e HOSIErT qet e 7
(1) ST 1 Hiere

(2) F=EME IAdH F BT
(3) ATAT & H9
(4) A= 3geedi il forE= =1 i

The lebelled examples are part of data for which model of teaching.
(1) Concept attainment model (2) Advance orgniser model

(3) Developmental model (4) Basic Teaching model

Mied 321601 3iEe & @9 # [hdr foreror gfaw = &1 sy 2 7
(1) TheqAT i Sfe== (2) STEdl GiSw JfaH
(3) TerehrATHE U= (4) g e gfaas

Which measure of central tendency divides a distribution into two
equal parts ?

(1) Mean (2) Median

(3) Mode (4) Average

S 9 B B AT AT U fAEROT Y AT gEY AT i afedr
(1) H=THAEE (2) wHi®H

(3) =EEH (4) SfrEd
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76.

7 i {8

78.

The research method that cstablishes theories in any discipline is -

(1) Basic Resecarch (2)  Applied Research

(3) Action Rescarch (4) Phenomenological Research
ae ol fafe =i & faam 2= F Resiat & i @an ©
(1) Ha9a fare (2) STTIART omE

(3) FRETE o (4)  EATHATASTR 9T

A conjecturai statement about the relationship between two or more
variables 1s delined as
(1) Research Problem (2) Hypothesis

(3) Research Question (4) Problem Statement

g1 gr 21 9 oAfass =3 & e el & fgum § e gYidd w4

a—-TT T -fIF,-nfi ?’ ?

(1) 9Trer JHEN (2) g
(3) 9 q9T (4)  HAAT BT

Which of the following is not correct statement ?
(1) Evaluation improves learning

(2) Evaluation is a continuous process

(3) Measurement includes evaluation

(4) Evaluation involves taking decision

e 8 @ &= a1 FU g T8l 8 7
(1) Tl SAferm § o« e

(2) FEAIHA UH Gad 9EEAT B

(3) WA H gedike fafsd e

(4) g ® fofa s ffea @ar ®
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79.

80.

81.

Which is the positional measure of central tendency ?

(1) Median (2) Mode

(3) Mean (4) Percentile
i defaa adm ggiy B9 ar & 7

(1) "&AH (2) B

(3)  H=HI (4) HiderdiF

Which level of measurement allows least mathematical operations?

(1) Nominal (2) Ordinal

(3) Interval (4) Ratio

9 & fhE @Y 9 e ferd Beaned @ fromtea Bear s
qahdr g 7

(1) =a | (2)

(3) SfaT : (4) ST

Which measure of central tendency can be easily and quickly

calculated.
(1) Median (2) Mode
(3) Mean (4) Percentile

PG UG & fhE A9 B e @ ud @Rg aid d R o
gehal & ?

(1) H"iH (2) g
(3) HEHH (4) HiceTdis
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16P/247/4

82.

83.

84.

85.

Generalization is not an aim of the ... rescarch method.

(1} Educational Research (2)  Applicd Research

(3) Fundamental Research (4) Action Research

P 5 O A 9Ng o S%eed ATHEIRTT Al TE Bl B ¢
(1) aifefors <te (2) STIIANIHS T

(3) =i 9l (4) fpareTs o

A teacher wiants to know about the learnine difficulties of his/her
students i some specific subject. The test that 1s most appropriate

for 1he purpose 1s

(1) Placement Testing (2) Norm referenced Test
(3)  Criterion referenced Test (4) Diagnostic test

v forerss fdl faua § g faeni=iai & stfermy afe-ngdi @l &nd
FAAT AE AR © | 3H 339 W YA B Adied ITgAT Ta
FIF AT T Y '

(1) wiaHe e (2) WM dEida i
(3) [T Hafwa T (4) THEHETEH GO

Determine the median of the following sct of scores : 935, 130, 115,
110 and 75 :

=1 3Tl @&l "Hedier s it 95, 130, 115, 110, 75 ¢
(1) 115 2) 95 (3) 130 4) 110

The measure of central tendency whose value is influenced by extreme
valuesis: '

(1) Mean (2) Median

(3) Mode (4) None of these

F4 uate & (ha AT B A ST Oreishl 8 gefad S e 7
(1) "I (2) WIS

(3) FE® (4) SUUET H A W AEd
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86.

87.

16P/247/4

Gaven that Mean = o0 and SD = 4 what 1s the z-score for a raw score of
84 2

g AT = 60 TAT HIFF [G907 = 60 B df UT<dish 84 &l S UTH
feha=T Brm 7

(1) 04 (2) 24

(3) 06 (4) 15

The mean and standard deviation of two tests are given as below -

Test A Test B
Mean 200 100
SD 20 10

- A score 300 on Test A will correspond to what score on Test B

(1) 200 (2) 300 .

(3) 100 (4) None of these

a1 Tl & wemE ud wee Rees B o $ R oo § o
giieror % e @

e 200 100

LISEACE T 20 10

qﬁwmwaﬁmsoo%?ﬁmw&ﬁmqﬁwaw
feha=T 8 ?

(1) 200 (2) 300
(3) 100 (4) =8 4 FE T

33 P.T.O.
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88. The percentage of scores Iving hetween 2 8D and 3 SD on a normal

89.

20

91.

probability curve is approximatcly :

(1) 11% 2) 14% (3] 34% (4) 95%

Wk YIEhdT % & 1 99F 99 Ud 2 919 [99e & e o e
fha afqera s =g 8 & 7

(1) 11 Yicrerd (2) 14 giqera

(3) 34 g9 (4] 95 giq9TH

Determine the approximate standard deviation value ol the following
set of raw scores : 08, 10, 12, 14, 16, 18, 20.

Frfeiad grdiehi & [T /e I 0 "9 ST fha-r 8F0 7
08, 10, 12, 14, 16, 18, 20
(1) 5 (2) 4 (3) 3 (4) 6

The Ofuieth percentle 1s also known as ¢

(1) Median (2) Modec
(3) Mean (4) Average
garad gidqerdiss Hl el Sl B

(1) #red (2) @Bl
(3) HeAH (4) TEd

A negatively skewed curve implies that :
(1). A majority of scores will lie towards the middle of the curve
(2) A majority of scores will fall towards the right end of the curve

(3) A majority of scores will fall towards the left end of the curve

(4) No pattern is seen
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92.

93.

16P/247/ .

U AT [EFUT A% Y g2 qar qea] 2
(1) sAfeERter ardis weg § feafg 2nn

(2) SAfaepier Ur<ish a6 B arfest T R anm
(3) SIS Ul T B i ofiw fea &
(4) =g Mg fTavor urg 98 Sn

Determine the product moment correlation coefficient from followinge

pair of data sct :
X=917,6,4,12

Y=4,14,9,1,5

[SQ T Sil & THE & we qoHGA el GedE & oI Ay <
HIFT |

X=9,7,6,4,12

Y=4,14,9,1,5
(1) 0.019 (2) 0.19
(3) 0.091 (4) 0.91

Rank Order correlation coefficient was given by :

(1) Michael Scriven (2) Charles Spearman
(3) Fischer (4) William Black
S Few=T ol w R B e e 7

(1) #AEHA EHlaT 3 (2) = TEEE 3
(3) IR (4) fafemm = 3
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94.

95.

96.

Standard deviation is defined as
(1) Square root of Variance (2)  Square root of Mean

(3) Square root of Median (4) Square root of Mode

a4 faaed Hl ded © ¢

(1) SALOT &l T (2) HeAHE & A
(3) =T W AT (4)  Ami 1 A

Compute the standard deviation for the following sct ol scores .
1,2,3;4;9

— —~ —

fyeifeiad ofel & @ue @1 "IE [FEe S B

1,2,3,4,5
(1) 1.41 (2) 1.17
(3) 1.14 (4) 1.71 .

Which is the most appropriate measure of central tendency for the

following set of scores ?

2.4,12,13, 16, 14, 14, 24, 16.
(1) Median (2) Mean
(3) Mode (4) All are equally suitable

Errffiag STt @ e EE gt w1 B A1 A adiEd ST
IR I
2,4, 12, 13, 16, 14, 14, 24, 16

(1) #HeHH (2) HEHAT
(3) dedish (4) A TaE =9 d SUg ©
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9%7. The standard deviation of a standard scale of z-score is -

AT - Ordish HIYAT 9 99 a9 = adr £ 7
(I) 5 (2) 2 (3) 3 4) 1

98. Detemine the standard deviation for the following set of scores :

92, 100, 90, 80, 94, 96

(I) Greater than 6 but less than 6.5
(2) Greater than 5.5 but less than 6.0
(3) Greater than 6.5 but less than 7.0

(4) Less than 5
ﬁw%ﬁaaa@%iﬁqwﬁaﬁm%wﬁmﬁmf?:
92, 100, 90, 80, 94, 96

(1) 634 AfF g 6.5q &9

(2) 559 AfUF wg 6.0 FH

(3) 6.5% 3t uig 7.0 9 Fw
(4) 59 &

99. Find the value of mode when Mean is given as 10 and Median as 10.

aﬁquﬁloé‘rqﬁqwmloa‘r?ﬁagaﬁﬁﬁﬁmgﬁm?
(1) 10 (2) 20 (3) 15 4) 5
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100. The fomula for rank order correlation cocelficient s .

qy B0

' N(N2-1)
63D

@ P e
N(N>-1)

(2)

N(NZ-1)

6y D?
p :]__, —'_'j_
N(N°-1)

-7___'{||r||¢_|-‘,1{ 'J;{;;J,]lq";;f TTFE F ji?{ l’__‘{]:[ "f] _ﬁ{ :!_':11 o7 :T ?

63 D>
iy % b=
N(NZ-1)

o1 6ZD

101. Gestalt means :
(1) Part of whole

(31 Structure

T=Tee &1 o1 B

(1) FHT &1 Tk AT

(3) AT

(2)
(4)

N

H> D
= 5
N{N--1)
65 D?
p :1_ _._,‘—'T_
N(N--1)

Pattern

Unique interactions

(2) GOT=HIY

(4)

STEIE SiatEEa

102.Which of the following is not inherited ?

(1) Haemophilia

(3) Blood group

(2)

(4)

Colour of skin

Anaemia

Crfafa & FF ar durgmhd @ o Tl e ¢

(1) SAfeERaadd
(3) ®feT &t

(2)
(4)

=T & T
T STeadl
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103.Ink blot tests arc used to study :
(1) Intelligence (2) Personality

(3) Creativity (4) Aptitude

AiATed 9O B8R a9 B oiar &

(1) gra = : (2) AfrI I
(3)  FAATHEAT T (4)  ATHAHAT F

104. Which of the following is not a feature of 'Inright theory’ of learning ?
(I) Goal oriented behaviour
(2) Responding to the total situation
(3) Behaviring in a disirable manner in anticipation of a reward.
(4)  Sudden perception of the relationship in a total situation.
Friferad o & &9 a1 sifrm & ‘siadie RFsT=r" il faoar a8t & ¢
(1) & S9E HaER
(2) ol Rafy & ofq srgfear s
(3) TR FI MM A Fiedg w9 § FGer HT=]

(4) wgui aRRafy § et & eramE geefeor

105. Mental hygeine is useful in :
(1) Maintaining satisfaction in work
(2) Remedial teaching for backward children
(3) Maintaining discipline disablility

(4) Preventing learning disability

39 P.T.Q.
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WA 2R RS 3eEn o

(1) = ¥ dqf= a9 va-d F f@o

(2) ferE =a F e awrr & IR o & e
(3) faeneEi # argemas a9E @ &

(4) 2IERT StArHAr & Ud-ard & ford

106. \Which of the following is not usclful for fostering ¢reativine 2
(11 Sell evaluauon (2}  Critcism

(3) Unusual questions - (4) Spontancous activiues

feforaa & @ H 9T GOl 1 el 3 & (o 3T el

g 7
(1) @A (2) ST
(3) TA™EA 999 (4) TEdTEd A

107. Defensive mechanisms are used too frequently and intensively by :
(1) Individuals with intellectual disabilities
(2) Highly creative individuals
(3) Maladjusted individuals
(4) All people
Rl e gﬁﬁﬁﬁEm'wﬁﬂ'aﬂvm?'HHIFMH‘Eﬂ'ﬁ o Sar 2
(1) difish Steraan gad eAfeaal &
(2) T=a gomdia Al g
(3) AT Al E
(4) @it aAAfFEl 27

40



108.

109

16P/247 1

Which ot the following is not o characteristic of a mentallv lea!
individual ?

(1)  Emotional mealarity (2) Ability to dicide

(3) Acceptance of reality (4) Intoleracnce

Fre=fataa § @ #F ar amfas =1 F @ afg 9 os [aaa
g B v

(1) HAMeE == (2) 9 A AT ATl

(3)  AFITFAT T T (4)  TATELE

- Which of the following characteristic is true for preoperational period
of cognitive development ?

(1) Reflexive actions (2) Logical thinking

(3) Intuitive thinking (4) Reversibility of thought

Fr=ifeiad & 4 H4 1 [Fowar gd d@feaers gaen @ FEoao
=N ? .

BT

110.

(1) *@d: gesi fpan (2) aifeer fae
(3) eraus o= (4) for=mr & faerdzan
According to Piaget children learn by trial and error in

(1) Sensorimotor stage (2) Preoperatinal stage

(3) Concrete operational stage  (4) Formal operational stage

fﬁmﬁ%awaﬁrm@g%mzﬂ@a%:
(1) IS TaH g §

(2) 9d dfparmes orawer §

(3) [ wiharws srawer §

(4) Sl dfFarers erazen &

41 P.T.0.



111. Counselling in which the connsclior & i the cenral active role and

112.

the chent in passive s

(1) Directive Counsclling

(2) Eclectic counselling

(3)  Non directive counselling

(1) Both directive and modirective counsiling

SIAER (4PRT) TR S, RA A i i i

T9AEd MEE 21T ©, av o

(1) F=omars 3Udras

(2) HATZ9NTTER IUAr-

(3) 4GSl Iuargd

(4) [Remers ud AfFEneE QI 39diET

Which of the following is true for positive remnforcement :

(1) It is given before a desirable behaviour is made.

(3) It is given just after a desirable hehaviour
(4) It is given after any behaviour is exhibited.

o

(2) It is given just after an undesirable behaviour

Freqfarfaa § @ @ @1 gAcHE A & [dad qe
(quaah"ﬁﬁaawmﬁﬁ%ﬁﬁmw%
(-2]%3@%3@3{?%@@6@:13%3@%
(sywm%ﬁm%gwmﬁmw%

(4) e e off ege & ars fear S o

42
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113.

114.

16P/247 /9

Individual dilferences does not include
(1) difference in hearing abilitv

(2) difference in mental ability

(3) difference in caste

() difference in rale of development

AA=E fAtT=Er 7 siAaTa a@t oaAr 7o
(1) A7 F1 A0 7 Fape=rAr

(2) HETEE AFAT H [qian

(3) S # f9=ar

(4) g™ 27 ¥ fa=tar

Which of the following is a direct method of overcoming frustration

due to failure in examination-?

(I) Increasing own effort

(2) Daydreaming about success

(3) Suppressing the bitter memories of failure
(4) Getting away from examination

FrfeiEad § @ A a1 9her § STa%erdr $ o Sa 99 a7
ST Bl & &1 gogey fafer & 2

(1) I 94 B GG

(2) AHAAr & ar § Rar @e Sg=r

(3) AARAA H HZ TYRA B gAT ST

(4) aite F T @A

[
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Lis.

116.

117.

Which of following is a physicological need

(1} Need for sleep (2) Need for affection
(3) Need for self esteem (4) Need for security
frfefaa & @ @ ar 3fes (Sfaw) 7m 2 7

(1) +1E &l i /ST 9Tl

(2) THE & AT/ SF9AEAT

(3)  e™iE=1 & "/ AEF9HEAT
(4) YT FN AT/ ATILIE

Which of the following is true about Y- chromosome ?

(1) It is inhestited from mother

(2) It is always foresent with X chromosome is all humans

(3) It is not a sex chromosome

(4) It is not present in femalc ..

fr=ifarfaa § 4 @9 ar Y- d9gs & ol 9 © 7
(1) = =l o G9gET ° ara el @

(2) W A e eAeN X d9gE & A Hogs e @
(3) TE U AT 9 Tl ©

(@) = Ard gor § AEf e 8

Sociometric technique is used to :
(1) Identify a creative child

(2) Identifv a gifted child

(3) Idengtify a star of the class

(4) Identify an intellechallly

44



118.

119.

120

& PR ;
J_'\)I'[ Lt ¥ ; ¥

TATTHTG d=6e11%h s 3UHFT e 1ar 2
(1) PAALAT 9releh &6 gg=a- & o
(2) Yid¥EE g9 &l B9 & fag

(3) el & WX (AIRT) Hl Yedd & ol
(4) Wegls ad #H 9EdE H ol

Truth and nonviolence of Mahatma Gandhi are examples of :
(1) Common traits - (2) Central traits
(3) Cardinal traits (4) Secondary traits

Helcdl Ml & Afkd § dcy ud At saever E
(1) | SfereT (2) =TT
(3) war (sg@) sfieer (4) 7T sfterer

Who categorized personality in three types ‘introvert, extrovert and
ambivert ?

(1) Gardon Allport . (2) S.Freud
(3) R.B. Cattell (4) C.G. Jung
aﬁaaa%eﬁqmﬁ—amg@,a%g@amwﬂg@ﬁﬁwﬁj A9 Arer

a1 7

(1) ST ST9re (2) UHOEHIS
(3) 3MMXodlo doa (4) ¥Hiosilo ng
.Howard Gardness in known for

(1) Proposing general and specific ability factors of intelligence
(2) Proposing primary mental abilities for intelligence

(3) Proposing three dimensions of content operations and product
of intelligence

(4) Proposing body kinesthetic and musical intelligence

45 P’
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121.

122.

i

A2 AMEAY FH A SuaAl ©

(1) gf= & amra qur fafore drgan sl & giqued & i
(2) gfz & mafs amtas Feaet & giaaes &

(3) gfe & dF fameii-famzasy, diar od s & gfqures & e
(4) o T gia qur @a gia & afaded & i

If a student spontaneous lows his head in front of a teacher then this
1s an cxamples of :

(1) learning by operant conditioning

(2) learning by classical conditioning

(3) learning by trial and error

(4) learing by insight

A o faEmeft P & wHA A mY S oier T4 24
(1) Praugd orgdas &0 ST

(2) ORI () STgEdT 2T g™ A1

(3) 9™ U4 Fi< E ST <Rt

(4) 31?1??'?5 FARIRC; 1 C Rk A

What is the unit of study in psychology at present ?
(1) Sout (2) Behaviour
(3) Consciousness (4) Emotion
qe § AAESTE @ STeTEe B I Ml T 7
(1) ATl (2) HqEI

(3) e (4) T
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123. Originality, uniqueness, fluency, elaboration are characteristics «.:

which human ability ?

(1) Aptitude (2) Attention

(3) Intelligence (4) Creativity

Aiicrhet, aforedr, ydre, faanen B amdE emar #1 [@omar 2 7
(1) A2 (2)  TaUE

(3) 3z (4) AR

]

124. Which statement regarding growth and development is true ?
(1) Development ceases after a certain age and growth continucs
(2) Growth and development are processes which go on continuously
till life
(3) Growth and development both after adolescence

(4) Growth ceases at the end of adolescence and developme=t
continiues till life.

g SR [aea & d€faa S 91 U q™ B 7

(1) = oy & ae fgea o sar & o) ghe ardr edt @
(2) Fhe AR @ sfas 9d=a = ardl gfEmd 3

(3) giw T faemra T &1 fpelirawen & afq § g9 sy &

(4) FrReMIETe & o % gfe o6 A ¥ of fm Shaw v
ESCUREHIIE

125.E.L Thorndike emphasized upon many things for learning except :
(I) Perception (2) Mental readiness

(3) Exercise (4) Reinforcement

¥ P.T.O.



16P/247/4

126.

32T

ZoUdo AMEEE & A & Wl And A1 e 9 g0 FEE EEE

(1) 9o & (2) wWHAEEF AUl &

(3) ST & (4) gAde &

In theory of intelligence concept of Divergent thinking was proposed
oy

(1)  L.L Thurstone (2) C. Spearman

(3) J.P Guilford (4) H. Gardner

gfz & Frara 8, erqard fdaw & aer 0 gfadeT B an
(1) TdoUdo e o (2) o TETHA

(3) Slodio Feweg o (4) UHo MEATL

The concept of Mental age was first proposed by :

(1) A Binct (2) D. Wechsler

(3) W. Stern (4) L. Terman

mﬁmm@%maﬂnﬁﬂmmqﬁ%w:
(1) vo fad A (2) o AT A
(3) s=go WA A (4) ©efo THA
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128.1n which of the following test an individual 1s asked to narrate an
imaginative story after looking at vague pictures ?
(1) Stanford Binet Test (2) Thematic Apperception Test

(3) Binet Simon Test (4) Rorschach Ink Blot Test

o~

HTaiad 8 3 (5 904 e = BErsd A A

=

FHeIATHE Fel g9919 B [9d &Hel Adr & ¢

(1) Tawig fa=d gderor (2) UTHERER ofqare giiEoT

(3) &= aA=aEs g (4) M | eI T

129.In which type of transfer of learning after learning to write with right

hand, a person uses the left hand to write ? -
(1) Positiv transfer (2) Horizental transfer

(3) Vertical transfer (4) Bilateral transfer

FFE 9B & AT & TG § g1 a1y § fowger dras & 4,
AR a1 81 &l IYANT RrEasy ¥ 3 o Siar S 7
(1) 991 =% Faor (2) &fgsT sfavor

(3) I IfeRor (4) faqriedes siqeor
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130.Quick and accurate recognition is a characteristic of

(1)

(3)

Atltention

Perception

a1 ALl TEAH, faouer €

A

UI210T
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(2)

(2)

Memory

Sensation
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SECTION - II
gvs - II
(i) (English Language Comprehension)

Note : Attempt all the 20 questions in this Section, if you do not opt f:r
Section-II on (ii) Hindi Language Comprehension.

Four alternatives are given as possible answers to cach question.
Give the correct choice as an answer.

Directions : (Q.No. 131-135) Read the following passage and answer the
question based on it.
Leisure is not so much a specific activity as a state of mind. As
such it can be experienced while lying on the beach, while working
while vigorously exercising. It describes a person's attitude towards
what he or she is doing and the quality of the time spent during it.
The advanatage of such a broad and unspecific definition 1s seen
when two people take the 24 hours in a dayv and try to subtract
from them periods they do not consider to be leisure such as workin
sleeping and eating - no two people are found to agree fully abot
what should be taken out and what should be in.

Howsoever defined, leisure is certainly important both in the life of
the individual and for the society of which he is a part. For the
individual it may provide relaxation from daily pressures and
routines creative experience such as education or voluntary 'work
that helps to liberate and develop the personality or etntertainment
as an antidote to boredom or drudgeruy. This last statement is
reflected in the fact that many employers provide leisure facilities
such as football pitches piped music games rooms and holding

centres, because they believe that these will produce fitter and
happier workers.

S1 P.T.G.



16P/247/4

131. Leisure 1s
(1) an experience (2) a person’s attitude

(3) a state of mind (4) a specific activity

132.A broad definition f()ﬁ' leisure holds good due to :
(1)  The agrecement between difterent activities
(2) The agreement between people about what should be taken ow
and what should be in, in the 24 hours a day.
(3) They way in which our time is spent

(4) The disagreement between people about what should be taken

out and what should be in, in the 24 hours a daxv.

133.Lcisure provides
(1) relexation (2) pressuress

(3) education (4) work

134. Many employers provide leisure facilities to their employces with a
view.
(1) to give them rest (2) to have happy workers

(3) to produce efficient workers (4) to have good workers
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135. Leisure 1s essenual
(1) for everyone
(2) for both the individual and the society
(3) for all
(4) for developing a person's attitude

Directions : (Q.No 136 to 139) Select the word similar in meaning 1o the

agiven word :

136. Quaint
(1) familiar (2) uncommon
(3) everyday (4) customary

137. ./-‘,dm(mi\s_h

(1) abandan (2) praise

(3) rebuke (4) relinquish
138. Flagrant

(1) disgraceful (2) graceful

(3) inherent (4) absorbing
139. Verbal

(1) writeen (2) spoken

(3) literal (4) false

S3 P.T.O.
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Directions : (Q. No. 140 to 143} Scicct the word opposite I meaning o

the given word :

140. Uncouth
(1) awkward (2) unfamiliar

(3) discourtcous (4)  courtcous

141. Amalgamate
(1) equip (2) generate

(3) separate (4) materialise

142. Vagvant

(1) Vagabond (2) Dbilased

(3) tramp (4) gentleman
143. Candid

(1) vague (2) secrefive

(3) experienced (4) anxious

Directions : (Q. No. 144 to 147) : Fill in the balnks with the correct option :

144.We .......... our work before the guests arrival at our house.
(1) shall finish (2) had finished
(3) have finished (4) shall have finished
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145, T O wanueu its appearance since 2003.
(1) is changing (2) changed
(3) has changed (4) was changing
146......... is the practice of pretending to be different from what one really
IS
(1) Embezzlement (2) Fraud
(3) Forgery (4) Hypoerisy

147.You will find that a Union Minister invariably has a splendid house

5 1 ¢ SO rooms.
(1) spacious (2) decorated
(3) small (4) congested

Directions : (Q.No. 148 to 150) [ndentify the grammatical category of the

bold word :

148.All of us went there.

(1) Noun (2) Pronoun

(3) Determiner (4) Adverb

55 2T.0.
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149. He often cocs there.
(1) Determiner (2) Conjunction

(3) Adverb ) (4) Preposition

150.To rich ought to help the poor.

(1)  Adjective (2)  Noun

(3) Adverb (4) Conjuction
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SECTION - II
gvs - 11
(ii) (fB=1 smomens)

A g @ug - I (i) § B S s 3 watad 99| &
397 ASE AT ABd, a1 3@ '\UE & [ewl wiarEie #

T Eiad 9T 20 9991 % 347 AAT |

FTrEd 99l (1), (2), (3) &1 (4) HHE & FR-AR ThTH
37 Rg ™ B, ed g FiE us & @E T 34 98 397 @
-

151. H@-2a4dl & 99 & U 9T T Foe By Ot # aar 7

(1) @=di (2) ey
(3) TERERE (4) TEfa

152. Fr=1 7 @ faga @< &1 =99 FHit

(1) & (2) 3

(3)

g

(4) T

153. &<l &l [oTr &7 go1t fohay 27 ?
(1) B« (2) T=AGHT

(3) Higems @w (4) Trszufy
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154. O TR 39adn A AL A 77

(1) gdi fe=< (2) fasr

(3) @l diall (@) e

155. e A" A 1 i w6 EEeT R Qe o g v

) gt (4) ZEATT

156. ‘aASiifaes ifafeaa e am & [ o 9= =Efad i ¢

£ —
)

(1) a2 (2) 2T9TERITCTF

(3) 3"”"‘3@;er (4) Fafa 3 2

157. ‘& &l 31 3@ drell’- g & foo e 9t AFiEd i
(1) TsTd (2) TSI

(3) F&H _ (4) 93

158. ‘@er =1 9ol [&em agi=d Sifs

(1) gere (2) faue

(3) fa=s (4) ergEte
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164. o= 9ot =AM FIf

(1) stenerdl (2) efcared

(3) sT=Ed (4) si=rerd

165. ‘I H fHE 30 A AL 27

(3) 9: (4) 9 37 39

166. ‘AgFH # fohd @A & A1 & 7

(1) ageT (2) agdle
(3) AAHHE W) Ea

167.Qﬁﬁ$¢Fﬂa'%giﬁwid{5'% IqATHHT o 7

(1) fpar depfa & (2) ANR GEBA &
(3) SAHSTH (4) TEfeT®

168. THAT B STHR U H AT Rt H Ag A8t 8 7

(1) "e=ards dre (2) GgFT drerd

(3) TH=ET (4) @TEOT a1
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169. ==1 H 9iiddlZ &l 97FT &g d HEAl Al &

(1) 1942

(3) 1940

170. 9zHEd fHa amr | o & ¢

(1) 2= 1ge
{‘)} Hi4-h 3"?—51
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=
Z,

L

(2) 1936
(4) 1938

(2) AffHfEa e
(4) SATHIOTH AT
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ROUGH WORK
TF HTd
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10.

11.

| .8
13.
14.

(39 Qi@ & 999 STET0T Y5 g7 797 397-97 & 21 g7 a7
FHACT FieA1 - BT qIA- @z 47 7 &1 )
T IR et & 30 92 & =LA 9@ o 1% yeTE § 991 9w WieE § S e
T 21 T 8| YT g T ST O 34 G Aol Fal- e @1 ad aR
TYAUA & THA YiEen I &

el 999 H forrer Wed qav-ux & sifare, foman A1 Wi S8 o " e A9
H 3 A

I U 7O @ 197 AT &1 36 T @1 A AT T 7 fadkd & G 3970 TE1 1247 FEi
FacT 3AT-UF & g1 qedied [&4ar ard

AT HAFRATR 997 I-99 T FHS 349 HWEM-T2 T 99 T [5900 T490T W 17531

IT-G7 & T99 §B g7 47 @ 3791 I{eAIG [Haid w7 aF @ aar 7149 129 gl &l
ST HT 31 TEl-Tgl AaAVAF g dgl FvH- §ieanT & HHis g1 S H TG AT S
o 1@

3o WHo Ao UF UT AIFHI& GEA, NyIYlas] G&I1 a §e G&ar (afe &iF &) aqr
YYAYIEaanT av AqEAE 3T 3o UHo JWo U GEAT &1 Warsal 4 3uitei@d &1 IJHid
Te1 81

Jug Fiareal 4 &ig 9l gRadd && (A0 GRT AT g4 Aigd =91 4§ U Iqiad
T &1 FINT AT AT

¥v9-gitaaT 4 Y@ 99 & 91X daicdd 3T 128 74 §1 §&& J99 & d&lcdd 3wt & [o1g
ATFHT IAV-UF FT @ gfF F G 123 13 g & FAV-0F & Vg9 g8 4T (74
3391 & Jg@r 97 @ e & &1

T/ Y9 % I F AU Fad U & g9 mel FUl U § IUE gur & mel &
T Al U F9 H YO WA W FE I Tehd A= S

&7 & % UF &I @IE g1 Hed 3T aell Tg1 A q&Har 81 Flq A fwdl ¥ & I
72t 377 TEd & @ datya ufEy & ar 22 72 gel gw & @i 513 31 88 ¥ W g
% 138 waT)

G % T - & gEyS § Si AT 7 au Sae-gfaw & s g
H ¥4 KU

Tiel % IT0 297 & TF T IAT-gF GeT Wad H S L <

e A B9 § Ugel TUaT Yad § STl o &1 3FA T el

afz 318 srereit e § S T F1 S at €, o 9 frvatewned g e




